NILY

%é?@gw %7&:%}&6%@

IR

T GEIRL T

71;: /\ Fﬁ/ii“§¥ﬁﬁjbﬁﬁ333ﬁ

Hi%: 0573-86059165 14 H.: 0573-83591595
FH1: 189-0683-5012 QQ: 929850133
Email: bolts@189.cn M4 www.luosic.com

ZFR:
FritE:
’_Ség&:
RIM:

e g e (18 3k 07 SR 22

DIN603 (4HFT)
8.84 (35K)
PEEE GH, B HD

SERBERIRME

H 3:
RS
HRU:
(e

20164F9H 211
160921603882
- 9H30H
HICK, i 248

9H21H

AR 7™ i 25 58 (80 i (TE EAE),

1S BIAE B 9, A S

AL T (100037)

i TS |EiTE sy TR iR iy TR &

M6*20 45.60 100 M10*50 225.62 20 M12*80 504.60 10
M6*25 51.00 100 M10*55 243.60 20 M12*85 533.60 10
M6*30 57.60 100 M10*60 261.58 20 M12*90 556.80 10
M6*35 64.20 50 M10*65 279.56 20 M12*95 585.80 5
M6*40 70.80 50 M10*70 297.54 10 M12*100 [ 609.00 5
M6*45 77.40 50 M10*75 315.52 10 M12*110 [ 661.20 5
M6*50 84.00 50 M10*80 333.50 10 M12*120 [ 713.40 5
M6*55 90.60 50 M10*85 353.80 10 M12*130 [ 765.60 5
M6*60 97.20 50 M10*90 369.46 10 M12*140 | 817.80 5
M6*80 123.60 30 M10*95 388.60 10 M12*150 [ 870.00 5
M8*20 80.04 50 M10*100| 406.00 10 M12*160 [ 922.20 5
M8*25 89.32 50 M10*110| 441.38 10 M12*170 [ 974.40 5
M8*30 98.60 50 M10*120| 477.34 10 M12*180 [1026.60 5
M8*35 110.20 30 M10*130| 513.30 10 M12*190 [1078.80 5
M8*40 121.80 30 M10*140| 551.00 10 M16*30 527.80 5
M8*45 133.40 30 M10*150| 585.80 5 M16*35 568.40 5
M8*50 145.00 30 M10*160| 620.60 5 M16*40 609.00 5
M8*55 156.02 20 M10*170| 655.40 5 M16*45 649.60 5
M8*60 167.62 20 M10*180| 690.20 5 M16*50 690.20 5
M8*65 179.22 20 M10*190| 725.00 5 M16*55 730.80 5
M8*70 190.82 20 M10*200| 759.80 5 M16*60 771.40 5
M8*75 203.00 20 M12*30 265.06 20 M16*65 817.80 5
M8*80 213.44 20 M12*35 286.52 20 M16*70 864.20 5
M8*85 226.20 20 M12*40 307.98 10 M16*75 910.60 5
M8*90 237.80 20 M12*45 329.44 10 M16*80 957.00 5
M10*20 131.66 30 M12*50 354.96 10 M16*85 [1003.40 5
M10*25 146.16 30 M12*55 380.48 10 M16*90 [1049.80 5
M10*30 160.66 30 M12*60 | 406.00 10 M16*95 [1096.20 5
M10*35 175.16 20 M12*65 431.52 10 M16*100 {1142.60 5
M10*40 189.66 20 M12*70 | 457.04 10 M16*110 {1235.40 5
M10*45 207.64 20 M12*75 481.40 10 M16*120 {1328.20 5

1. ik SHBAEIE %, BANT1F (10007
2 A BHIIRYE AT MRk €, — BN 20- SOj?fE

34k

L iR G T HE.
oAb A A, ISR AN




